202 24E8H ETC2.0 (DSRC) EiERIFE

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 2,630 146 14 283 400 209 3473
SRR 566 55 7 32 109 35 769
aF= 632 59 3 42 131 43 867
=R 1,726 88 7 112 340 134 2,273
AR 514 30 1 30 86 16 661
LR 757 25 1 18 157 49 958
mEE 1,278 96 9 97 362 124 1,842
KR 2,373 114 8 162 587 212 3,244
N 1,716 78 3 99 409 164 2,305
HER 2,056 100 2 117 470 135 2,745
BEE 7,425 293 21 536 2,195 744 10,470
FEE 5,695 204 8 319 1,398 551 7,524
RRED 12,053 218 39 514 2,525 1,308 15,349
fESNS 9,258 205 12 451 2,173 936 12,099
Fins 1,307 70 3 75 385 120 1,840
2R 691 33 0 30 153 58 907
alllR 869 33 0 30 137 66 1,069
BHE 536 19 1 27 85 23 668
LIS 660 16 1 43 200 54 920
REFE 1,500 71 8 72 417 155 2,068
I RIS 1,585 91 1 77 364 100 2,118
EEIR 2,942 104 6 164 920 335 4,136
BHE 8,250 280 20 307 1,624 694 10,481
=ER 1,357 122 5 72 422 110 1,978
BER 1,041 54 0 47 219 79 1,361
RERRT 1,808 56 1 83 553 229 2,501
ABRAT 7,076 467 218 682 1,704 783 10,147
"ER 3,999 123 5 161 980 418 5,268
ZRE 788 44 0 31 191 41 1,054
AL 624 29 3 50 180 41 886
SWE 389 20 0] 15 85 22 509
ERE 392 11 1 27 116 27 547
A L= 1,268 86 2 61 394 156 1,811
LBE 1,883 97 4 90 547 232 2,621
Hijm[= 935 32 3 37 245 52 1,252
e 441 30 1 21 135 31 628
&HIIE 710 25 3 30 202 91 970
BER 756 37 1 36 255 96 1,085
=S 360 12 0] 18 117 23 507
ERR 3,440 157 8 215 874 348 4,694
EER 437 58 2 26 126 39 649
RIBE 592 21 4 32 167 54 816
HEARIR 915 63 1 51 237 83 1,267
AHE 626 67 O] 64 172 52 929
=IFE 654 38 0 30 192 44 914
BREE 792 28 2 28 241 82 1,091
RIS 275 7 0] 3 61 29 346
tT=4 0 0 0 0 0 0 0

a&t 98,477 4,112 439 5,547 24,042 9,427 132,617




2022FE8H ETC2.0 (DSRC) ESiERIFEY - $iiR

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 1,893 97 1 230 327 162 2,548
SRR 448 29 1 20 92 24 590
aFR8 487 29 1 23 115 38 655
=R 1,229 57 0 59 276 102 1,621
AR 399 15 1 21 74 9 510
LR 565 16 0 12 130 32 723
mEE 973 67 0] 71 299 84 1,410
KR 1,757 69 3 90 464 133 2,383
N 1,291 43 3 73 339 118 1,749
HER 1,542 55 1 85 374 80 2,057
BEE 5,359 200 14 367 1,790 506 7,730
FEE 3,944 128 5 223 1,135 391 5,435
RRED 8,472 112 13 334 2,070 1,036 11,001
fESNS 6,869 126 8 312 1,801 694 9,116
Hino i 965 41 0] 45 323 85 1,374
2R 483 24 0 20 129 42 656
alllR 607 18 0 16 107 46 748
BHE 406 14 1 17 68 10 506
LLBR 501 10 0] 32 173 39 716
REFE 1,124 37 1 40 340 108 1,542
I RIS 1,167 49 0] 54 300 58 1,570
EEIR 2,160 64 0 106 775 252 3,105
BHIR 5,724 154 7 190 1,295 485 7,370
=ER 1,068 78 1 50 345 87 1,542
BER 780 19 0 27 180 54 1,006
RERRT 1,412 30 1 56 462 170 1,961
ABRAT 5,104 280 192 474 1,363 557 7413
"ER 2910 61 2 102 797 295 3,872
ZRE 584 15 0 17 159 28 775
AL 442 21 1 36 149 27 649
SR 291 13 0] 11 75 19 390
ERE 306 7 O] 21 101 20 435
A L= 934 57 0 37 334 106 1,362
LBE 1,414 54 2 52 445 162 1,967
Hijm[= 721 18 2 17 212 35 970
e 365 22 0 16 124 25 527
&HIIE 540 15 0 19 168 78 742
BER 563 23 0 25 194 48 805
=R 274 4 0] 10 110 19 398
ERR 2,450 79 0 133 718 249 3,380
EER 338 16 0 9 113 34 476
RIBE 446 14 2 20 139 39 621
HEARIR 667 34 1 29 198 66 929
AHE 458 45 O] 44 149 38 696
=IFE 516 17 0 13 165 31 711
BREE 604 14 0 17 212 65 847
RIS 181 3 0] 1 51 25 236
tT=4 0 0 0 0 0 0 0

a&t 71,733 2,393 264 3,676 19,759 6,811 97,825




